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Question ID:- 1

Read the passage and answer the question that follows by choosing the most
appropriate option:

The roots of sustainable development can be traced back to the 1972
Stockholm Conference, where development was for the first time linked to
environment, emphasising the need for efforts at the international level.

Sustainability is the ability of the earth’s various systems including human
cultural systems and economics, to survive and adapt to changing
environmental conditions. Sustainable development implies a change in all
aspects of life in a way that causes little damage to the environment. It is
meeting the needs of the present without compromising the ability of future
generations to meet their own needs.

The chief cause of unsustainability is the exponential growth of human
population and overexploitation of natural resources. In developing countries,
resource exploitation occurs chiefly to meet the needs of every increasing
human population for food, fuel, fodder and shelter. Various human activities
like agriculture, deforestation, over-fishing, overuse of fresh water, etc. result in
environmental degradation and social disintegration.

We have used technology to alter much of the rest of nature to meet our
growing needs, like we have reduced biodiversity by destroying wildlife
habitats. Some populations of pest species and disease causing bacteria have
been strengthened through indiscriminate use of pesticides and antibiotics.
Renewable resources have been used faster than they can be regenerated thus
turning grasslands into deserts.

Sustainable development is further threatened by poverty, political instability,
population growth, undernourishment and high consumption of natural
resources. We need to act quickly to avoid disasters in the near future.

Sustainable development implies

1. a form of growth that does not meet the current human needs.

2. a form of development that overexploits natural resources.

3. a change in all aspects of life that causes little damage to the environment.
4. a form of growth that is meeting the needs of the present generation.
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Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 4

Read the passage and answer the question that follows by choosing the most
appropriate option:

The roots of sustainable development can be traced back to the 1972
Stockholm Conference, where development was for the first time linked to
environment, emphasising the need for efforts at the international level.

Sustainability is the ability of the earth’s various systems including human
cultural systems and economics, to survive and adapt to changing
environmental conditions. Sustainable development implies a change in all
aspects of life in a way that causes little damage to the environment. It is
meeting the needs of the present without compromising the ability of future
generations to meet their own needs.

The chief cause of unsustainability is the exponential growth of human
population and overexploitation of natural resources. In developing countries,
resource exploitation occurs chiefly to meet the needs of every increasing
human population for food, fuel, fodder and shelter. Various human activities
like agriculture, deforestation, over-fishing, overuse of fresh water, etc. result in
environmental degradation and social disintegration.

We have used technology to alter much of the rest of nature to meet our
growing needs, like we have reduced biodiversity by destroying wildlife
habitats. Some populations of pest species and disease causing bacteria have
been strengthened through indiscriminate use of pesticides and antibiotics.
Renewable resources have been used faster than they can be regenerated thus
turning grasslands into deserts.

Sustainable development is further threatened by poverty, political instability,
population growth, undernourishment and high consumption of natural
resources. We need to act quickly to avoid disasters in the near future.

Sustainable development is threatened by

1. political stability

2. affluence

3. decrease in population
4. ozone depletion

Options:-

.1, Option ID :- 13,
« 2, Option ID :- 14,
. 3, Option ID :- 15,
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« 4, Option ID :- 16,
Answer Given:- 1, Option ID : -13

Question ID:- 3

Read the passage and answer the question that follows by choosing the most
appropriate option:

The roots of sustainable development can be traced back to the 1972
Stockholm Conference, where development was for the first time linked to
environment, emphasising the need for efforts at the international level.

Sustainability is the ability of the earth’s various systems including human
cultural systems and economics, to survive and adapt to changing
environmental conditions. Sustainable development implies a change in all
aspects of life in a way that causes little damage to the environment. It is
meeting the needs of the present without compromising the ability of future
generations to meet their own needs.

The chief cause of unsustainability is the exponential growth of human
population and overexploitation of natural resources. In developing countries,
resource exploitation occurs chiefly to meet the needs of every increasing
human population for food, fuel, fodder and shelter. Various human activities
like agriculture, deforestation, over-fishing, overuse of fresh water, etc. result in
environmental degradation and social disintegration.

We have used technology to alter much of the rest of nature to meet our
growing needs, like we have reduced biodiversity by destroying wildlife
habitats. Some populations of pest species and disease causing bacteria have
been strengthened through indiscriminate use of pesticides and antibiotics.
Renewable resources have been used faster than they can be regenerated thus
turning grasslands into deserts.

Sustainable development is further threatened by poverty, political instability,
population growth, undernourishment and high consumption of natural
resources. We need to act quickly to avoid disasters in the near future.

Among the following, which one is not related to the use of technology to alter
nature?

1. reduced biodiversity by destroying wildlife habitats

2. some populations of pest specicies and disease causing bacteria
strengthened through use of pesticides and antibiotics

3. renewable resources have been used faster than they can be regenerated

4. developed high consumerism and political instability

Options:-

.1, Option ID :- 9,

« 2, Option ID :- 10,
. 3, Option ID :- 11,

« 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9

Question ID:- 5
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Read the passage and answer the question that follows by choosing the most
appropriate option:

The roots of sustainable development can be traced back to the 1972
Stockholm Conference, where development was for the first time linked to
environment, emphasising the need for efforts at the international level.

Sustainability is the ability of the earth’s various systems including human
cultural systems and economics, to survive and adapt to changing
environmental conditions. Sustainable development implies a change in all
aspects of life in a way that causes little damage to the environment. It is
meeting the needs of the present without compromising the ability of future
generations to meet their own needs.

The chief cause of unsustainability is the exponential growth of human
population and overexploitation of natural resources. In developing countries,
resource exploitation occurs chiefly to meet the needs of every increasing
human population for food, fuel, fodder and shelter. Various human activities
like agriculture, deforestation, over-fishing, overuse of fresh water, etc. result in
environmental degradation and social disintegration.

We have used technology to alter much of the rest of nature to meet our
growing needs, like we have reduced biodiversity by destroying wildlife
habitats. Some populations of pest species and disease causing bacteria have
been strengthened through indiscriminate use of pesticides and antibiatics.
Renewable resources have been used faster than they can be regenerated thus
turning grasslands into deserts.

Sustainable development is further threatened by poverty, political instability,
population growth, undernourishment and high consumption of natural
resources. We need to act quickly to avoid disasters in the near future.

Choose the pair of words from the following which means the same as
‘exponential’ and 'indiscriminate’, respectively.

1. sharp increase; random
2. decrease; careful

3. rise; systematic

4, reduce: confused

Options:-

.1, Option ID :- 17,
« 2, Option ID :- 18,
. 3, Option ID :- 19,

« 4, Option ID :- 20,
Answer Given:- 3, OptionID : -19

Question ID:- 2
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Read the passage and answer the question that follows by choosing the most
appropriate option:

The roots of sustainable development can be traced back to the 1972
Stockholm Conference, where development was for the first time linked to
environment, emphasising the need for efforts at the international level.

Sustainability is the ability of the earth’s various systems including human
cultural systems and economics, to survive and adapt to changing
environmental conditions. Sustainable development implies a change in all
aspects of life in a way that causes little damage to the environment. It is
meeting the needs of the present without compromising the ability of future
generations to meet their own needs.

The chief cause of unsustainability is the exponential growth of human
population and overexploitation of natural resources. In developing countries,
resource exploitation occurs chiefly to meet the needs of every increasing
human population for food, fuel, fodder and shelter. Various human activities
like agriculture, deforestation, over-fishing, overuse of fresh water, etc. result in
environmental degradation and social disintegration.

We have used technology to alter much of the rest of nature to meet our
growing needs, like we have reduced biodiversity by destroying wildlife
habitats. Some populations of pest species and disease causing bacteria have
been strengthened through indiscriminate use of pesticides and antibiotics.
Renewable resources have been used faster than they can be regenerated thus
turning grasslands into deserts.

Sustainable development is further threatened by poverty, political instability,
population growth, undernourishment and high consumption of natural
resources. We need to act quickly to avoid disasters in the near future.

Environmental degradation and social disintegration are the result of

1. land clearing for urbanisation and industrialisation.
2. afforestation.

3. scarcity of water.

4. fall in agricultural activity.

Options:-

.1, Option ID :- 5,
« 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 2, Option ID : -6

Subject : SET2 SH 2 General English_B

Question ID:- 6
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Read the passage and answer the question that follows by choosing the most
appropriate option:

Planet, People, Profit: The 3Ps of the triple bottom line approach, which

form the core of sustainable business operaticons, are more intertwined and
inseparable today than they ever have been in the past. Natural calamities,
global warming and governance issues are impacting reputations and
businesses, along with heightened shareholder and consumer activism, and
increased regulatory scrutiny. As a result, enterprises are compelled to take a
hard look at the way they conduct their businesses and make sweeping
changes in a bid to future-proof themselves.

An example of the way in which the landscape is changing can be found in the
Indian banking system. The Reserve Bank of India, recently proposed
integrating climate-related risks into its practice of monitoring the stability of
the financial system and modelling climate risk scenarios to identify
vulnerabilities. This could imply that banks and financial institutions would need
to chalk out new frameworks, imbibe climate change-related concerns into their
credit decisions and risk management functions.

Globally, communities and corporations are re-evaluating priorities and
redefining purpose at individual and collective levels. There has been a
conscious crossover to a value addition approach, which goes beyond profits
and pay cheques.

Champions of climate change, software engineers going back to their villages
to start organic farming, start-up founders obsessed with leveraging technology
to solve the problem of access to financial services, and teachers imparting
education to underprivileged students are the real-life heroes of today. To
them, 'why we do' matters as much as ‘what we do'.

Consequently, ESG (environmental awareness, social responsibility and good
governance) have become the focal points of the lens through which
governments, corporates and individuals are looking at their day-to-day jobs
and decision-making.

The central idea of the passage is

1. about sustainable business operations.

2. sustainable development.

3. change in the Indian banking system.

4. integrating climate-related risks with the financial system.

Options:-

.1, Option ID :- 21,
« 2, Option ID :- 22,
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- Not Attempted

Question ID:- 7
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Read the passage and answer the question that follows by choosing the most
appropriate option:

Planet, People, Profit: The 3Ps of the triple bottom line approach, which

form the core of sustainable business operaticons, are more intertwined and
inseparable today than they ever have been in the past. Natural calamities,
global warming and governance issues are impacting reputations and
businesses, along with heightened shareholder and consumer activism, and
increased regulatory scrutiny. As a result, enterprises are compelled to take a
hard look at the way they conduct their businesses and make sweeping
changes in a bid to future-proof themselves.

An example of the way in which the landscape is changing can be found in the
Indian banking system. The Reserve Bank of India, recently proposed
integrating climate-related risks into its practice of monitoring the stability of
the financial system and modelling climate risk scenarios to identify
vulnerabilities. This could imply that banks and financial institutions would need
to chalk out new frameworks, imbibe climate change-related concerns into their
credit decisions and risk management functions.

Globally, communities and corporations are re-evaluating priorities and
redefining purpose at individual and collective levels. There has been a
conscious crossover to a value addition approach, which goes beyond profits
and pay cheques.

Champions of climate change, software engineers going back to their villages
to start organic farming, start-up founders obsessed with leveraging technology
to solve the problem of access to financial services, and teachers imparting
education to underprivileged students are the real-life heroes of today. To
them, 'why we do' matters as much as ‘what we do'.

Consequently, ESG (environmental awareness, social responsibility and good
governance) have become the focal points of the lens through which
governments, corporates and individuals are looking at their day-to-day jobs
and decision-making.

Among the following, which one is NOT true about the ‘value-addition
approach'?

1. Corporates go beyond profits and pay cheques.

2. Many corporate workers are going back to their villages to start organic
farming.

3. Some teachers are going to villages and imparting education to the
underprivileged students.

4. Start up founders are obsessed with technology.

Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- Not Attempted

Question ID:- 10
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Read the passage and answer the question that follows by choosing the most
appropriate option:

Planet, People, Profit: The 3Ps of the triple bottom line approach, which

form the core of sustainable business operaticons, are more intertwined and
inseparable today than they ever have been in the past. Natural calamities,
global warming and governance issues are impacting reputations and
businesses, along with heightened shareholder and consumer activism, and
increased regulatory scrutiny. As a result, enterprises are compelled to take a
hard look at the way they conduct their businesses and make sweeping
changes in a bid to future-proof themselves.

An example of the way in which the landscape is changing can be found in the
Indian banking system. The Reserve Bank of India, recently proposed
integrating climate-related risks into its practice of monitoring the stability of
the financial system and modelling climate risk scenarios to identify
vulnerabilities. This could imply that banks and financial institutions would need
to chalk out new frameworks, imbibe climate change-related concerns into their
credit decisions and risk management functions.

Globally, communities and corporations are re-evaluating priorities and
redefining purpose at individual and collective levels. There has been a
conscious crossover to a value addition approach, which goes beyond profits
and pay cheques.

Champions of climate change, software engineers going back to their villages
to start organic farming, start-up founders obsessed with leveraging technology
to solve the problem of access to financial services, and teachers imparting
education to underprivileged students are the real-life heroes of today. To
them, 'why we do' matters as much as ‘what we do'.

Consequently, ESG (environmental awareness, social responsibility and good
governance) have become the focal points of the lens through which
governments, corporates and individuals are looking at their day-to-day jobs
and decision-making.

Choose the pair of words from the following which means the same as 'imbibe’
and 'leverage’, respectively.

1. impact; receive

2. internalise; utilise

3. accept; lift up

4. influence; relaxation

Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Question ID:- 8
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Read the passage and answer the question that follows by choosing the most
appropriate option:

Planet, People, Profit: The 3Ps of the triple bottom line approach, which

form the core of sustainable business operaticons, are more intertwined and
inseparable today than they ever have been in the past. Natural calamities,
global warming and governance issues are impacting reputations and
businesses, along with heightened shareholder and consumer activism, and
increased regulatory scrutiny. As a result, enterprises are compelled to take a
hard look at the way they conduct their businesses and make sweeping
changes in a bid to future-proof themselves.

An example of the way in which the landscape is changing can be found in the
Indian banking system. The Reserve Bank of India, recently proposed
integrating climate-related risks into its practice of monitoring the stability of
the financial system and modelling climate risk scenarios to identify
vulnerabilities. This could imply that banks and financial institutions would need
to chalk out new frameworks, imbibe climate change-related concerns into their
credit decisions and risk management functions.

Globally, communities and corporations are re-evaluating priorities and
redefining purpose at individual and collective levels. There has been a
conscious crossover to a value addition approach, which goes beyond profits
and pay cheques.

Champions of climate change, software engineers going back to their villages
to start organic farming, start-up founders obsessed with leveraging technology
to solve the problem of access to financial services, and teachers imparting
education to underprivileged students are the real-life heroes of today. To
them, 'why we do' matters as much as ‘what we do'.

Consequently, ESG (environmental awareness, social responsibility and good
governance) have become the focal points of the lens through which
governments, corporates and individuals are looking at their day-to-day jobs
and decision-making.

Which of the following is closer to the meaning of "vulnerability'?

1. exposed to problems
2. strangeness

3. negative impacts

4. the poor and the weak

Options:-

.1, Option ID :- 29,
« 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9
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Read the passage and answer the question that follows by choosing the most
appropriate option:

Planet, People, Profit: The 3Ps of the triple bottom line approach, which

form the core of sustainable business operaticons, are more intertwined and
inseparable today than they ever have been in the past. Natural calamities,
global warming and governance issues are impacting reputations and
businesses, along with heightened shareholder and consumer activism, and
increased regulatory scrutiny. As a result, enterprises are compelled to take a
hard look at the way they conduct their businesses and make sweeping
changes in a bid to future-proof themselves.

An example of the way in which the landscape is changing can be found in the
Indian banking system. The Reserve Bank of India, recently proposed
integrating climate-related risks into its practice of monitoring the stability of
the financial system and modelling climate risk scenarios to identify
vulnerabilities. This could imply that banks and financial institutions would need
to chalk out new frameworks, imbibe climate change-related concerns into their
credit decisions and risk management functions.

Globally, communities and corporations are re-evaluating priorities and
redefining purpose at individual and collective levels. There has been a
conscious crossover to a value addition approach, which goes beyond profits
and pay cheques.

Champions of climate change, software engineers going back to their villages
to start organic farming, start-up founders obsessed with leveraging technology
to solve the problem of access to financial services, and teachers imparting
education to underprivileged students are the real-life heroes of today. To
them, 'why we do’ matters as much as ‘what we do'.

Consequently, ESG (environmental awareness, social responsibility and good
governance) have become the focal points of the lens through which
governments, corporates and individuals are looking at their day-to-day jobs
and decision-making.

The Reserve Bank of India did NOT do which one of the following?

1. It proposed integrating climate-related risks into its practice of monitoring
the stability of the financial system.

2. It proposed chalking out new frameworks to imbibe climate change-related
concerns.

3. It has implemented the triple bottom line approach.

4. It is trying to identify vulnerabilities of climate change related concerns.

Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
« 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- Not Attempted

Subject : SET2 SH 2 General English_C
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Question ID:- 26

Of the four given options, choose the most appropriate one.

1. His knowledge of Indian vernaculars are far superior to that of the common
man.

2. His knowledge of Indian vernaculars is far superior to that of the common
man.

3. His knowledges of Indian vernaculars are far superior to that of the
commen man.

4. His knowledge of Indian vernaculars has far superior to that of the common
man'’s.

Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 43

Choose the alternative which can replace the underlined word without
changing the meaning of the sentence.

The rapacious plunderers did not spare even the people living in the slums.

1. barbarous
2. avaricious
3. nomadic
4, warlike

Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 1, Option ID : -169

Question ID:- 34
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This question consists of a sentence which is divided into four parts numbered
(1) to (4). Only one part of the sentence is not acceptable in standard written
English. Identify that part which contains an error.

1. We had in this village

2. a boy whom | well remember

3. whom from his childhood

4. showed a strong liking for bees.

Options:-

.1, Option ID :- 133,
. 2, Option ID :- 134,
« 3, Option ID :- 135,

« 4, Option ID :- 136,
Answer Given:- 2, Option ID : -134

Question ID:- 28

Of the four given options, choose the most appropriate one.

1. The news of his father's demise has broken him.

2. The news of his father's demise have broken him.

3. The news of his father's demise has broke him.

4, The news of his father's demise has been broken him.

Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
. 3, Option ID :- 111,

« 4, Option ID :- 112,
Answer Given:- 4, Option ID : -112

Question ID:- 22

Choose the option which can be substituted for the given words/sentence.
an office for which no salary is paid

1. gratis

2. honorary
3. free

4. hospitable

Options:-
.1, Option ID :- 85,
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« 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 1, Option ID : -85

Question ID:- 19

Choose the most logical order of sentences from among the four choices to
constuct a coherent paragraph.

A. In most of the advanced countries this feature has taken the shape of big
retail channels and shopping malls which are now catching on in the bigger
Indian cities.

B. Some of the traditional outlets in villages and small towns are one-stop
shops.

C. By going to one place, one can get almost any item of domestic
consumption.

D. Though options may be limited they can meet a range of requirements.
Choose the correct answer from the options given below:

1.ACBD
2D, CAB
3.B,D,AC
4.C A BD

Options:-

.1, Option ID :- 73,
« 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 2, Option ID : -74

Question ID:- 27

Of the four given options, choose the most appropriate one.

1. My sister is the poet and the philosopher.
2. My sister is a poet and philosopher.

3. My sister is a poet and the philosopher.
4. My sister is poet and philosopher.

Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
. 3, Option ID :- 107,
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. 4, Option ID :- 108,
Answer Given:- 2, Option ID : -106

Question ID:- 45

Choose the alternative which can replace the underlined word without
changing the meaning of the sentence.

Arun was able to see the futility of his work after 20 years.

1. fruitfulness

2. results

3. worthlessness
4, benefits

Options:-

.1, Option ID :- 177,
« 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 42

Choose the alternative which can replace the underlined word without
changing the meaning of the sentence.

The need of the hour is to initiate the renaissance of moral conscience and halt
the rampant corruption for it could even hasten the end of our civilisation.

1.rise

2. introduction
3. significance
4, revival

Options:-

.1, Option ID :- 165,
« 2, Option ID :- 166,
. 3, Option ID :- 167,

« 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 47
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Fill in the blanks:
There is no glory in war the blood it :

1. considering; sheds
2. comparing; spills
3. worth; costs

4. thinking; demands

Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 3, Option ID : -187

Question ID:- 16

Choose the most logical order of sentences from among the four choices to
constuct a coherent paragraph.

A. The man who is perpetually hesitating over which of the two things he will
do first, will do neither.

B. He fluctuates from opinion to opinion and veers like a weather-cock.

C. Instead of being progressive in anything, he will be at best stationary and
most probably regress in all.

D. It is only the man who first consults wisely, then resolves firmly, that can
advance to eminence in any time.

1.A,B, D, C
2B ACD
3.AB,CD
4.CD A B

Options:-

.1, Option ID :- 61,
« 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 3, Option ID : -63

Question ID:- 13
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Choose the alternative which is closest to the opposite in meaning of the
underlined word in the sentence.

You will have to conform to the rules if you want to stay here.

1. adjust

2. observe
3. disobey
4. comply

Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 17

Choose the most logical order of sentences from among the four choices to
constuct a coherent paragraph.

A. Nature seems to have taken particular care to disseminate her blessings
among the different regions of the world.

B. Therefore, the natives of several parts of the globe have a kind of
dependence upon one ancther.

C. The infusion of a china plant is sweetened by the pith of an Indian cane.
D. The food often grows in one country and sauce is prepared in another.
Choose the correct answer from the options given below:

1.A, D CB
2.ACD B
3.AB, D C
4. A DB C

Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18
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Choose the most logical order of sentences from among the four choices to

constuct a coherent paragraph.
A. Such a place is called Oasis.

B. A great part of Arabia is desert.

C. The sand is so hot that you cannot walk over it with your bare feet in the day

time.

D. However, springs of water here and there come up from under the ground

that enable vegetation to grow.
Choose the correct answer from the options given below:

1.A,CDB
2.B,CAD
3.BCD A
4.C DB A

Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 12

Choose the alternative which is closest to the opposite in meaning of the
underlined word in the sentence.

Do not run after the momentary pleasures of this transient world.

1. brief

2. ephemeral
3. passing

4. permanent

Options:-

.1, Option ID :- 45,
« 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 2, Option ID : -46

Question ID:- 24
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Choose the option which can be substituted for the given words/sentence.

a record of one’s life written by somebody else

1. bibliography
2. biography

3. topography

4. autobicgraphy

Options:-

.1, Option ID :- 93,
« 2, Option ID :- 94,
. 3, Option ID :- 95,

. 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94

Question ID:- 46

Fill in the blanks:
Those who live in houses should not throw at others.

1. big, abuse

2. own, challenges
3. stone, bricks

4. glass, stones

Options:-

.1, Option ID :- 181,
« 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 4, Option ID : -184

Question ID:- 15

Choose the alternative which is closest to the opposite in meaning of the
underlined word in the sentence.

We should not belittle others' achievements.

1. encourage
2. criticise

3. inspire

4, praise

Options:-
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.1, Option ID :- 57,
« 2, Option ID :- 58,
. 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 30

Of the four given options, choose the most appropriate one.

1. Neither of them were invited to the party.

2. Neither of them was invited to the party.
3. Neither of them invited to the party.

4. Neither of them have invited to the party.

Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 3, OptionID : -119

Question ID:- 21

Choose the option which can be substituted for the given words/sentence.

that which is bound to happen

1. wavering
2. opaque
3. inevitable
4. doubtful

Options:-

.1, Option ID :- 81,
« 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 4, Option ID : -84

Question ID:- 50
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The relations between two friends are so that no misunderstandings
can them.

1. fragile; cement

2. strong; break

3. sensitive; embitter
4, close; unite

Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
. 3, Option ID :- 199,

. 4, Option ID :- 200,
Answer Given:- 2, Option ID : -198

Question ID:- 20

Choose the most logical order of sentences from among the four choices to
constuct a coherent paragraph.

A. Dog is known for its faithfulness.
B. It stands by humans in the time of prosperity and also in adversity.

C. It will sleep on the cold ground, if only it may be by the master's side.

D. And it will kiss the land that has no food to offer yet not betray its master.

Choose the correct answer from the options given below:

1.A,CBD
2.ABCD
3.A,D.CB
4B, CAD

Options:-

.1, Option ID :- 77,
« 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Question ID:- 48
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Fill in the blanks:

politicians alone can survive in politics where rules the roost.

1. Clever; practical
2. Why; treacherous
3. Wily; treachery
4. |deal; prestigious

Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,

« 4, Option ID :- 192,
Answer Given:- 3, Option ID : -191

Question ID:- 49

Fill in the blanks:

He appears to be liberal in his views, but in actual life he is less and is

narrow-minded than many others in the organisation.

1. tolerant; more

2. sympathetic; thoroughly
3. acceptable; hardly

4. understanding; most

Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
. 3, Option ID :- 195,

« 4, Option ID :- 196,
Answer Given:- 1, Option ID : -193

Question ID:- 41

Choose the alternative which can replace the underlined word without
changing the meaning of the sentence.

He would have been successful, but for his lack of temerity.

1. audacity
2. confidence
3. sincerity
4, strength
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Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
. 3, Option ID :- 163,

« 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 36

Choose the option which best expresses the meaning of the idiom/phrase
underlined in the sentence.

The thief was caught red-handed and apprehended by the police.

1. with the hands smeared with blood
2.in the act of committing the crime
3. after the crime

4. was caught wrongly

Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
. 3, Option ID :- 143,

« 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142

Question ID:- 31

This question consists of a sentence which is divided into four parts numbered
(1) to (4). Only one part of the sentence is not acceptable in standard written
English. Identify that part which contains an error.

1.1 had a partial father

2. who give me a better education
3. than his broken fortune

4. would have allowed.

Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
. 3, Option ID :- 123,

« 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123

Question ID:- 44
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Choose the alternative which can replace the underlined word without
changing the meaning of the sentence.

Most of the staff is restive under the new manager.

1. discontented
2. relaxed

3. easy

4. friendly

Options:-

.1, Option ID :- 173,
« 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 1, Option ID : -173

Question ID:- 40

Choose the option which best expresses the meaning of the idiom/phrase
underlined in the sentence.

What egged you on to become a social worker?

1. urged

2. discouraged
3. hindered

4. inspired

Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 4, Option ID : -160

Question ID:- 38

Choose the option which best expresses the meaning of the idiom/phrase
underlined in the sentence.

It was he who put a spoke in my wheel.

1. tried to cause an accident

2. helped in the execution of the plan
3. thwarted the execution of the plan
4. destroyed the plan
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Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 3, Option ID : -151

Question ID:- 25

Choose the option which can be substituted for the given words/sentence.

allowance paid by a husband to his wife on legal separation

1. compensation
2.wage

3. alimony

4. debt

Options:-

.1, Option ID :- 97,
« 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 3, Option ID : -99

Question ID:- 39

Choose the option which best expresses the meaning of the idiom/phrase
underlined in the sentence.

When he tells stories about himself he is inspired to draw the long bow.

1. get excited

2. exaggerate

3. get emotional
4. underrate

Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
. 3, Option ID :- 155,

« 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 32
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This question consists of a sentence which is divided into four parts numbered
(1) to (4). Only one part of the sentence is not acceptable in standard written
English. Identify that part which contains an error.

1. This majestic mahogany table
2. which had one leg missing

3. belongs to an old prince

4. who is now impoverished.

Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
« 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 2, Option ID : -126

Question ID:- 37

Choose the option which best expresses the meaning of the idiom/phrase
underlined in the sentence.

My father strained every nerve to enable me to get settled in life.

1. worked very hard

2. spent a large amount of money
3. tried all tricks

4. bribed several persons

Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147

Question ID:- 35

This question consists of a sentence which is divided into four parts numbered
(1) to (4). Only one part of the sentence is not acceptable in standard written
English. Identify that part which contains an error.

1.ltis to be

2. the last expedition

3. before the school examinations,
4, which start on 12 December 2022.
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Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 4, Option ID : -140

Question ID:- 29

Of the four given options, choose the most appropriate one.

1. No sooner had he returned than he left again.
2. No sooner he had returned than he left again.
3. No sooner had he returned but he left again.

4. No sooner had he returned when he left again.

Options:-

.1, OptionID :- 113,
« 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 23

Choose the option which can be substituted for the given words/sentence.

a person who is always dissatisfied

1. heretic

2. malefactor
3. avaricious
4. malcontent

Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 3, Option ID : -91

Question ID:- 11
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Choose the alternative which is closest to the opposite in meaning of the
underlined word in the sentence.

Quite a few of the listeners complained that the speaker's speech was not
comprehensible.

1. intelligible

2. unclear

3. lucid

4, understandable

Options:-

.1, Option ID :- 41,
« 2, Option ID :- 42,
. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 33

This question consists of a sentence which is divided into four parts numbered
(1) to (4). Only one part of the sentence is not acceptable in standard written
English. Identify that part which contains an error.

1. Shifts in regional climate

2. will also impact

3. national parks, wild reserves

4. and mountain tops with high altitude.

Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

« 4, Option ID :- 132,
Answer Given:- 4, Option ID : -132

Question ID:- 14
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Choose the alternative which is closest to the opposite in meaning of the
underlined word in the sentence.

The Chairman initiated the proceedings with a brief speech.

1. started

2. confused

3. complicated
4, concluded

Options:-

.1, Option ID :- 53,
« 2, Option ID :- 54,
. 3, Option ID :- 55,

« 4, Option ID :- 56,
Answer Given:- 2, Option ID : -54

Subject : SET2 SH 2 General Aptitude_A

Question ID:- 51

Azp, Cxg, Evr, Gus, Irt, Kpu
The wrong term in the above series is:

1. Irt

2. Kpu
3. Gus
4. Bvr

Options:-

.1, Option ID :- 201,
« 2, Option ID :- 202,
. 3, Option ID :- 203,

« 4, Option ID :- 204,
Answer Given:- 3, Option ID : -203

Question ID:- 55

If 'DRINK' is coded as "WIRMP', then 'SMOKE' is coded as:

1. IOMPY
2. DOMQV
3. HNLPV
4, OINQP

Options:-
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.1, Option ID :- 217,
« 2, Option ID :- 218,
. 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 3, Option ID : -219

Question ID:- 61

If 12 July falls 3 days after tomorrow which is Tuesday, then what day of the
week will fall on the last day of the month?

1. Monday

2. Wednesday
3. Tuesday

4. Friday

Options:-

.1, Option ID :- 241,
« 2, Option ID :- 242,
. 3, Option ID :- 243,

« 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 58

P, Q and R invested in business in the ratio of 5:6:8, respectively. After one year,

R withdrew 50% of his investment, and P invested an additional 60% of his

investment. After 2 years, what is the ratio of distribution of profit among them,

respectively?

1.7:8:9

2.11:12:13
3.13:12:12
4. 14:12:11

Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 4, Option ID : -232

Question ID:- 60

@
NIEW


https://aview.in/
https://aview.in/category/previous-papers/

The average of 12 numbers is 20. The average of two of them is 25. What is the

average of rest of the numbers?

1.17
2.18
3.19
4,20

Options:-

.1, Option ID :- 237,
« 2, Option ID :- 238,
. 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- Not Attempted

Question ID:- 54

How many times does the digit 6 appear between 501 and 5997

1.18
2.19
3.20
4. 21

Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 3, Option ID : -215

Question ID:- 62

Find the ratio at which salt of $17.00 per kg should be mixed with salt of 320.00

per kg to produce salt of 18.40 per kg.

1.7:8
2.8:7
3.69
4.9:6

Options:-

.1, Option ID :- 245,
« 2, Option ID :- 246,
. 3, Option ID :- 247,
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. 4, Option ID :- 248,
Answer Given:- Not Attempted

Question ID:- 53

A cyclist rides 12 km to the East, turns North and rides 8 km, turns left and rides
6 km. How far is he from the starting point?

1.12 km
2. 14 km
3.10 km
4.18 km

Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

Question ID:- 57

If the letters in the sequence 'CPFNILTJ O R H' are written in reverse order
of English Alphabet, then which one of the following would be the seventh from
right to left?

1.L
2.N
3.
4.0

Options:-

.1, Option ID :- 225,
« 2, Option ID :- 226,
. 3, Option ID :- 227,

. 4, Option ID :- 228,
Answer Given:- 2, Option ID : -226

Question ID:- 59

Accident : Carefulness : : Disease : _7__

1. Doctor
2. Malaria
3. Treatment
4, Sanitation
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Options:-

.1, Option ID :- 233,
« 2, Option ID :- 234,
« 3, Option ID :- 235,

. 4, Option ID :- 236,
Answer Given:- 1, Option ID : -233

Question ID:- 56

By how much above the cost price should the goods be marked for sale so that
after allowing a trade discount of 20% and a cash discount of 12% %, a net gain

of 40% on the cost price is made?

1. 80% above C.P.
2. 60% above C.P.
3. ggé % above C.P.

4. 100% above C.P.

Options:-

.1, Option ID :- 221,
« 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- Not Attempted

Question ID:- 52

A sum of money yields compound interest ¥ 720.00 in one year and % 1483.20
in two years, compounded annually. What is the rate of interest?

1.5.75%
2. 6.00%
3.6.20%
4.6.25%

Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- Not Attempted

Subject : SET2 SH 2 General Aptitude_B

Question ID:- 63
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If

A @ B means A is the mother of B,
A % B means A is the father of B,

A # B means A is the sister of B,

A * B means 4 is the brother of B,

then M $ N * O # P does NOT mean:

1. O is the daughter of M
2. N, O, P are children of M
3.0 is the sisterof N and P
4. P is the brother of M

Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
« 3, Option ID :- 251,

« 4, Option ID :- 252,
Answer Given:- 4, Option ID : -252

Question ID:- 64

If

A @ B means A is the mother of B,
A % B means A is the father of B,

A # B means A is the sister of B,

A ™ B means A is the brother of B,
then A* B @ C # D means:

1. Ais the uncle of C

2. C is the brother of A
3. D is the daughter of A
4. Bisaunt of D

Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
« 3, Option ID :- 255,

. 4, Option ID :- 256,
Answer Given:- 1, Option ID : -253

Subject : SET2 SH 2 General Aptitude_C
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Question ID:- 67

75
80
a5
90

B

e b

Options:-

.1, Option ID :- 265,
« 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 4, Option ID : -268

Question ID:- 70

The cost of 7 mangoes and 4 oranges is the same as 5 mangoes and 7 oranges.
What is the ratio of the cost of one mango to one orange?

1.1:2
2.2:3
3304
4.1:4

Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
. 3, Option ID :- 279,

« 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Question ID:- 65

A 100 m long train is running at a speed of 72 km/hr. How much time will it
take to cross a bridge 240 m long?

1.15 sec
2.16 sec
3.17 sec
4,18 sec

Options:-
.1, Option ID :- 257,
« 2, Option ID :- 258,
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. 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 2, Option ID : -258

Question ID:- 71

Pointing to a lady, Saurabh said "She is the daughter of the woman who is the
mother of the husband of my mother”. How is the lady related to Saurabh?

1. Grand daughter
2. Daughter

3. Aunt

4. Sister

Options:-

.1, Option ID :- 281,
« 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 3, Option ID : -283

Question ID:- 69

Garima is older than her cousin Mamta. Mamta's brother Brahm is older than
Garima. When Mamta and Brahm visit Garima, all three like to play together.
Mamta wins more often than Garima does.

Which of the following is true from above?

1. Brahm wins more often than Mamta
2. Garima is the oldest of the three

3. Mamta is the youngest of the three
4, Garima often loses to Brahm

Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
. 3, Option ID :- 275,

« 4, Option ID :- 276,
Answer Given:- 3, Option ID : -275

Question ID:- 68
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Divide T 4200 between Aditya and Aradhika so that the amount received by
Aditya at the end of 4 years is equal to the amount received by Aradhika at the
end of 5 years; compound interest being at 10% per annum, compounded
annually.

1.3 2300, 31900
2.% 2200, ¥ 2000
3.% 2400, T 1800
4.3 2250, 1950

Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

« 4, Option ID :- 272,
Answer Given:- Not Attempted

Question ID:- 72

A shopkeeper sells 30 items at T 160 per item, after giving a discount of 20%.
He earns 25% profit. If the discount is not given, the profit gained is:
1. 65%
2
2. 66%
3. 56-%
4

4. 60%

Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- Not Attempted

Question ID:- 66

Seema's salary was reduced by 60%. Subsequently, the reduced salary was
increased by 60%. Find her loss in terms of percentage.

1.4%
2. 8%
3.36%
4, 24%

Options:-
.1, Option ID :- 261,
« 2, Option ID :- 262,
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. 3, Option ID :- 263,

« 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Subject : SET2 SH 2 General Aptitude_D

Question ID:- 74

P, Q. R S, Tand U are students of a college. Q and R are good at both Biology

and Chemistry. T and R are good at both Computers and Maths. U is good

at Chemistry only. S is good at all subjects, except Physics and Maths. P and Q

are good at both Physics and Maths. There are five subjects Physics, Chemistry,
Biology, Maths and Computers.

Who is good at all subjects, except Computers?

1.5
2R
3.Q
4.7

Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
« 3, Option ID :- 295,

« 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75

P, Q. R S, Tand U are students of a college. Q and R are good at both Biology
and Chemistry. T and R are good at both Computers and Maths. U is good
at Chemistry only. S is good at all subjects, except Physics and Maths. P and Q

Biology, Maths and Computers.
Who are good at two subjects only?

1.Tand R
2.Rand S
3.5andP
4. PandT

Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
« 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

are good at both Physics and Maths. There are five subjects Physics, Chemistry,
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Question ID:- 73

P, Q. R, S, Tand U are students of a college. Q and R are good at both Biclogy
and Chemistry. T and R are good at both Computers and Maths. U is good
at Chemistry only. S is good at all subjects, except Physics and Maths. P and Q

Biology, Maths and Computers.
Who is good only at Maths and Computers?

1.P
21
3.U
4.5

Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,

« 4, Option ID :- 292,
Answer Given:- 2, Option ID : -290

are good at both Physics and Maths. There are five subjects Physics, Chemistry,

Subject : SET2 SH 2 General Knowledg
Question ID:- 89

Among the six schools of Indian Philosophy, who established 'Vaisheshika'

system.

1. Gotama
2. Konada
3. Vyasa
4, Jaimini

Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
« 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 4, Option ID : -356

Question ID:- 78
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The Battle of Plassey was fought in 1756. The name Plassey is derived from

1. Plassey road

2. Plassey river

3. Palash tree known for its beautiful flowers
4. Plassey palace

Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

« 4, Option ID :- 312,
Answer Given:- 2, Option ID : -310

Question ID:- 76

Which one of the following objectives of the Pradhan Mantri Mudra Yojana
(PMMY) is incorrect?

1. Extends funding to micro-units and entrepreneurs.

2. It extended funding support for activities allied to agriculture also.

3. It has launched three innovative products namely Shishu, Kishore, and
Tarun.

4. It extends funding support to the corporate small business sector upto T 50
Lakh.

Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
« 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 4, Option ID : -304

Question ID:- 77

‘Mahal' in Mahalwari revenue settlement meant

1. Province

2. Area

3. Village or group of villages
4, System

Options:-
.1, Option ID :- 305,
« 2, Option ID :- 306,
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. 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 4, Option ID : -308

Question ID:- 88

Which among the following is NOT correctly matched?

1. Birth rate: The number of live births per 1000 population per year

2. Death rate: The number of deaths per 1000 population per year

3. Infant mortality rate: The number of deaths of babies before the age of five
years per 1000 live birth

4. Natural decrease: When Death rates are higher than Birth rates (expressed
as percentage)

Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
« 3, Option ID :- 351,

« 4, Option ID :- 352,
Answer Given:- 3, Option ID : -351

Question ID:- 99

The empirical climate classification scheme was developed by:

1. V. Koeppen

2. Garrett Hardin
3. E. Ostrom

4, Sunita Narain

Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
« 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100
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Which among the following is NOT correct for geothermal energy?

1. Geothermal plants occupy relatively small land areas

2. It has extremely low environmental impact

3. It is dependent on weather conditions (like wind and solar power)
4. It has low maintenance cost

Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
. 3, Option ID :- 399,

« 4, Option ID :- 400,
Answer Given:- 4, Option ID : -400

Question ID:- 95

Which Constitution Amendment Act restored the power of the State
Governments to identify and specify Socially and Economically Backward
Classes?

1. The Constitution (One Hundred and Fourth Amendment) Act, 2019
2. The Constitution (One Hundred and Fifth Amendment) Act, 2021
3. The Constitution (One hundred and Second Amendment) Act, 2018
4, The Constitution (One Hundred and First Amendment) Act, 2016

Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
. 3, Option ID :- 379,

« 4, Option ID :- 380,
Answer Given:- 1, Option ID : -377

Question ID:- 91
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Consider the following statements regarding International Monetory Fund
(IMF)

(i) The board of governers is the highest decision-making body of the IMF.

(i) Its resources mainly comes from the money that countries pay as their
capital subscription (quotas) when they become members.

How many of the above statements is/ are correct?

1. (i) only

2. (i) only

3. Both (i) and (ii)
4, Neither (i) nor {ii)

Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
« 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- Not Attempted

Question ID:- 84

Identify the correct combination of List A and List B:

List A List B

a) Nominal  |i) Currency notes, coins and demand deposits held by
GDP the public in commercial banks

b) Real GDP |ii) GDP evaluated at constant prices

c) Fiat money i) Money with no intrinsic value

d) Narrow . .
iv) GDP evaluated at current market prices

money

Choose the correct answer from the options given below:

a)-(iv), (b)-(ii), (c)-(iii), (d)-(i
a)-(i), (b)-(iii), (c)-(i), (d)-(iv
a)-(iii), (b)-(ii), (c)-(iv), (d)-(i

{
(
(
(@)-(iv), (b)-(ii). (c)-(i), (d)-(iii

lomst St B P

1.
2.
3.
4,

Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
« 3, Option ID :- 335,

« 4, Option ID :- 336,
Answer Given:- 4, Option ID : -336

Question ID:- 98

@
NIEW


https://aview.in/
https://aview.in/category/previous-papers/

Which of the following is NOT included in the "Geneva Package" of the Twelfth
Conference (MC 12) of the WTO?

1. Relaxing patent regulations for global vaccine equity
2. Ensuring food security

3. Ensuring ecological balance

4. Agreement on subsidies to the fisheries sector

Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- Not Attempted

Question ID:- 92

The motion of the moon around the earth is due to the

1. Centrifugal force
2. Centripetal force
3. Mechanical force
4. Kinetic force

Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

« 4, Option ID :- 368,
Answer Given:- 2, Option ID : -366

Question ID:- 87

Which one of the following is NOT a Non-Government Organization dedicated
to wildlife conservation?

1. Bombay Natural History Society

2. Indian Board of Wild life

3. Worldwide Fund for Nature, India

4. Wildlife Preservation Society of India

Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
. 3, Option ID :- 347,
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. 4, Option ID :- 348,
Answer Given:- Not Attempted

Question ID:- 96

Which Constitution Amendment Act ceased the reservation of seats for Anglo-
Indians in the Lok Sabha and State Legislative Assemblies?

1. The Constitution (One Hundred and Third Amendment) Act
2. The Constitution (One Hundred and Fourth Amendment) Act
3. The Constitution (One Hundred and Fifth Amendment) Act
4, The Constitution (One Hundred and Sixth Amendment) Act

Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- Not Attempted

Question ID:- 93

Which of the following is NOT true about Ultrasound waves?

1. Ultrasound waves are low frequency waves.

2. Ultrasound waves are generally used to clean parts located in hard-to-reach
places.

3. Ultrasound scanners getting images of internal organs of the human body.

4. Ultrasound waves can be used to detect cracks and flows in metal blocks.

Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

« 4, Option ID :- 372,
Answer Given:- 4, Option ID : -372

Question ID:- 94
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is a black, thick liquid with unpleasant smell. It is a mixture of about
200 substances and products obtained from it are used in synthetic dyes, drugs,
photographic materials, perfumes, explosives, roofing materials, paints etc.

1. Coke

2. Coal gas
3. Coal tar
4, Petroleum

Options:-

.1, Option ID :- 373,
. 2, Option ID :- 374,
« 3, Option ID :- 375,

. 4, Option ID :- 376,
Answer Given:- 3, Option ID : -375

Question ID:- 79

captures digital information of peoples’ lives from various sources
that public and private entities use to influence behaviour.

1. Internet of Habit

2. Internet of Behaviour
3. Internet of change

4. Internet of Memory

Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
. 3, Option ID :- 315,

. 4, Option ID :- 316,
Answer Given:- Not Attempted

Question ID:- 81

Which of the following is NOT a characteristic of the Peninsular rivers in India?

1. Relatively smaller basin

2. Young and youthful

3. Dependent on monsoon rainfall

4. Smaller, fixed course with well-adjusted valleys

Options:-
.1, Option ID :- 321,
« 2, Option ID :- 322,
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. 3, Option ID :- 323,

« 4, Option ID :- 324,
Answer Given:- 4, Option ID : -324

Question ID:- 80

Which of the following statements is NOT true regarding the Scheme for
Adolescent Girls (SAG)?

1. It was introduced in 2020.

2. The Anganwadi Centre is the focal point for the delivery of the services.

3. The scheme focuses on two major components- nutrition and non-
nutrition.

4. The scheme also aims at mainstreaming out-of-school girls to school
system.

Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

« 4, Option ID :- 320,
Answer Given:- Not Attempted

Question ID:- 86

Which one of the following is NOT correct about WTO?

1. It sets the rules for global trade.

2. It is a successor to The General Agreement on Trade and Tariffs (GATT).
3. lt was set up in 1995.

4. It has 154 members today.

Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 2, Option ID : -342

Question ID:- 85
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Which one of the following is NOT correct about the International Atomic
Energy Agency (IAEA)?

1. It was established in 1957.

2. It came into being to implement US President Dwight Eisenhower's "Atoms
for Peace” proposal.

3. It seeks to promote the peaceful use of nuclear energy.

4. It has no right to inspect civilian nuclear facilities of a sovereign state.

Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
« 3, Option ID :- 339,

« 4, Option ID :- 340,
Answer Given:- Not Attempted

Question ID:- 82

‘Blossom Shower' enables the flowering of

1. Tea

2. Mango
3. Coffee
4, Litchi

Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 3, Option ID : -327

Question ID:- 90

The Rigveda includes hymns called 'Sukta’. What does 'Sukta’ mean?

1. True statement
2. Complete

3. Well-said

4, Submission

Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
« 3, Option ID :- 359,
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« 4, Option ID :- 360,
Answer Given:- 1, Option ID : -357

Question ID:- 97

Whose speech, delivered at the Parliament of the World's Religions in 1893,
began with the words, "Sisters and brothers of America..."?

1. Martin Luther King Jr.
2. Swami Vivekananda
3. John F. Kennedy

4, Abraham Lincoln

Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 2, Option ID : -386

Question ID:- 83

The 'Great Leap Forward' campaign was initiated in 1958 in , aiming at
industrialising the country on a massive scale.

1. China

2. Pakistan

3. Sri Lanka
4. Bangladesh

Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
. 3, Option ID :- 331,

« 4, Option ID :- 332,
Answer Given:- 4, Option ID : -332

Subject : SET2 SH 2 Computer Knowled

Question ID:- 120

Which of the following statements is False for MS Word?

1. Save as option helps us to save in different format

2. Print layout is available on clicking File menu

3. Print preview option is shown in the right pane of the window
4. Web layout is available under Page layout option
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Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- Not Attempted

Question ID:- 102

Which of the following options is NOT available in the Drawing group, under
the Home tab in MS-PowerPoint?

1. Line spacing
2. Shapes
3. Arrange
4. Quick Styles

Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
« 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- Not Attempted

Question ID:- 122

Physical parts of a computer are called of the computer system.

1. Operating System
2. Software

3. Hardware

4, Files

Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 3, Option ID : -487

Question ID:- 119
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Unauthorized access to a bank account for carrying online transactions is an
example of

1. Phishing

2. Intellectual property theft
3. Virus attack

4. Hacking

Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 2, Option ID : -474

Question ID:- 112

Which of the following statements is correct?

a) Cache memory is used for storing data and instructions used during program
execution.

b) Program and data files are not required immediately by the computer system
which are stored on the hard disk.

c) Program and data files rarely required are stored in RAM.
Choose the correct answer from the options given below:

1. Only (a) is true
2. Only (b) is true
3. Only (b) and (c) are true
4. Only (a) and (b) are true

Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 4, Option ID : -448

Question ID:- 116
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The arrangement of computers and other peripherals in a network is called its

1. Host

2. Topology
3. Structure
4, Protocol

Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- Not Attempted

Question ID:- 123

The interprets and carries out the basic instructions that operate the
computer.

1. CPU

2. Operating System
3. Memory

4. Hard Disk

Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
. 3, Option ID :- 491,

. 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Question ID:- 107

Which of the following is incorrect for a Word document?

1. It cannot be converted to a portable document format.
2. It can be shared online with collaborators.

3. It can be published as a web document.

4. It can be posted as a blog.

Options:-

.1, Option ID :- 425,
« 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 3, Option ID : -427
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Question ID:- 121

A is a set of rules that governs the communication between
computers on a network

1. Webpage
2. Protocol
3. Server

4. Blog

Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 101

In order to change the character spacing of text in MS-PowerPoint, which of the
following is used?

1. Paragraph group
2. Font group

3. Editing group

4. Transitions group

Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
« 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 3, Option ID : -403

Question ID:- 115

NIC stands for:

1. Network Internet Connection
2. Network Interface Card

3. Network Integrated Card

4, Network Internet Card

Options:-
.1, Option ID :- 457,
« 2, Option ID :- 458,
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. 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 4, Option ID : -460

Question ID:- 117

An email received by a receiver consists of an attachment. When he opens the

attachment, it results into the message being resent to everyone in Microsoft
Outlook address book of the receiver. What might be the contents of the
attchment?

1. Freeware
2. Shareware
3. Virus

4, Firewall

Options:-

.1, Option ID :- 465,
« 2, Option ID :- 466,
. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- Not Attempted

Question ID:- 110

Which of the following provides information about the current state of what
you are viewing in the window in MS Word document?

1. Ruler Bar
2. Scroll Bar
3. Status Bar
4. Quick Access Toobox

Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
« 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 2, Option ID : -438

Question ID:- 109
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Selected text in a word document appears

1. Highlighted
2. Subscripted
3. Superscripted
4. Indented

Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
. 3, Option ID :- 435,

. 4, Option ID :- 436,
Answer Given:- 2, Option ID : -434

on the screen.

Question ID:- 125

Which of the following devices is NOT an Input device?

1. Keyboard
2. Scanner
3. Printer

4. Joystick

Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
. 3, Option ID :- 499,

. 4, Option ID :- 500,
Answer Given:- 3, Option ID : -499

Question ID:- 113

Which one of the following options lists all secondary storage devices?

1. RAM, ROM, CD-ROM

2. Cache, ROM, CD-ROM

3. Hard Disk, Pendrive, CD-ROM
4, Hard Disk, Cache, RAM

Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,
« 4, Option ID :- 452,
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Answer Given:- 3, Option ID : -451

Question ID:- 124

Among the storage devices, is faster than

1. Compact Disk, Hard Disk
2. Hard Disk, Compact Disk
3. Compact Disk, 55D

4. Hard Disk, SSD

Options:-

.1, Option ID :- 493,
« 2, Option ID :- 494,
. 3, Option ID :- 495,

« 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 111

HTTP is the acronym for

1. Hyper Text Transfer Promise
2. Hyper Transfer Text Promise
3. Hyper Text Transfer Protocol
4. Hyper Transfer Text Protocol

Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 3, Option ID : -443

Question ID:- 104

Which of the following statements is NOT true?

1. Hacking a computer is always illegal and punishable by law.

2. Cookies allow a visited website to store its own information about a user on
the user's computer

3. Open source software is computer software with its source code made
available

4. A firewall is a program or hardware device that filters the information
coming through an internet connection to a computer system

Options:-
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.1, Option ID :- 413,
« 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 1, Option ID : -413

Question ID:- 103

Which one of the following options is an incorrect way of clearing the contents
of cells in an Excel worksheet?

1. Data tab — Cells — Clear

2. Select row — Right click — Clear contents

3. Home tab — Editing group — Clear

4. Select column — Right click — Clear contents

Options:-

.1, Option ID :- 409,
« 2, Option ID :- 410,
. 3, Option ID :- 411,

« 4, Option ID :- 412,
Answer Given:- 3, Option ID : -411

Question ID:- 106

utility helps to find and format the cells that match the given
criteria in an Excel worksheet.

1. Format painter

2. Cell formatting

3. Conditional formatting
4. Charts

Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- Not Attempted

Question ID:- 105
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In a given criteria, utility hides the cells that do not satisfy the
condition:

1. Format painter

2. Data filter

3. Sort and Filter

4. Conditional formatting

Options:-

.1, Option ID :- 417,
« 2, Option ID :- 418,
. 3, Option ID :- 419,

« 4, Option ID :- 420,
Answer Given:- Not Attempted

Question ID:- 114

Which of the following should be strictly avoided to keep your computer
system secure?

1. Sharing your system password

2. Installing firewall and antivirus softwares

3. Visiting only secure websites

4. Turning on the option to automatically download and install the updates of
the antivirus software

Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
« 3, Option ID :- 455,

« 4, Option ID :- 456,
Answer Given:- 1, Option ID : -453

Question ID:- 108

MS-Word provides some pre-defined categorywise basic images that can be
used directly by choosing the option.

1. Screenshot
2. Word Art
3. Pictures

4. Clip Art

Options:-
.1, Option ID :- 429,
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« 2, Option ID :- 430,
. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 2, Option ID : -430

Question ID:- 118

A is a program or hardware that filters the information coming
through an internet connection to a network or a computer system.

1. Malware
2. Cookies
3. Firewall
4, Adware

Options:-

.1, Option ID :- 469,
. 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 2, Option ID : -470
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